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ax(bxc)=ax(b—c)=a—(b—c)=a—b+c
M A0 W va—b—cFa—btc, LA R 4558
2) ¥ VYa,b,ceQ, FH
axb=ab+1=ba+1=bxa
PR LM 6 A2 S 4 A
(axb)*c=C(ab+1)%xc=(ab+Dc+1=abc+c+1
ax(bxc) =ax(bc+ 1 :a(bc'+1)+l = abc +a-+1
M oa5£c Bt yabetct17abeta+1, AT B 4551
(3) ¥ Vab,c€EQ,H
axb=ab/2 =ba/2=0bxa
PR I it L A 4 A
(a*b)*c= (ab/2) ¥c = (ab/2)c/2 = abc/4
ax (bxc) =ax* (bc/2) = a(bc/2)/2 = abc/4 = (a*b) *¢
PRI s L 45 5
5. &%AA—{a,b} TEA FEXWANZItEE « M AR 4.1k 4.2 Fros. HIW
B A X TIBE « AR LSBT + X Tis s A A A 4.

x 4.1
* a b
a a b
b b a
x 4.2
A a b
a a b
b a b
BRESHW:

alA(a*xb) = aAb = a
(a*a) ANla*xb) = alb = a
alA(axb) = (axa) Alaxb)
bACa *b) = bAb = a
(bxa) A(bxb) = bAa = a
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